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1
brL 55 Be>32<E  ZWZ @B

D RiF. REFED RFED FHEFI
My father speaks both Chinese and English.

CREZFEULEXT

KEEN EEE F I potential-verb
*REFEDHEULERT
*AH BbH =bothAand B

12
el . & o<
INIE DY KT /XU TT,
This is the bread which | made with rice (by means of rice).

* ¥ - fc = <plain-style-past-affirmative> of {fE D £9 g1 (make, manufacture, create)

13
BET DB s B1L

210 i‘%ﬁtat *EJi D BE I3 VS =k F'Eﬁb\t_o = | heard that a boy’s face would
resemble his mother’s face than his father’s.

* 1&5 = <plain-style-nonpast-affirmative> of 1&?@“ sg2 = resemble, look like

*A (& BIC BLEF 9 = A will resemble B, A will look like B

*Ald Bl LT LWE 9 = Aresembles B, A looks like B

(X) &L D (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)

(14
WH>e&

R E BLPNDI, a%?b\ AN N ﬁ%d)é: = i,
My younger sister is talkative (chatty). She is quiet only when she is eating.

[na-adjective / noun] 7 = <plain-style> of [na-adjective / noun] T9
ICEhA &

*BAZE 1213 ohH D £J =1 understand only Japanese.

*BHARE Uh bh D FH A =1 understand only Japanese.
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*BAEE 217 ©h D F£E A =1don’t understand only Japanese.

i Us> U fo 7 - RIT -
A TFEAHIC HYESA DS iz 6557 ATIT D, |
A ‘What did you get form Mr Tanaka on your birthday?’

*$ 5 o fc =received, got = <plain-style-nonpast-affirmative> of £ 5L &3 g1 (receive, get)

* <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes
‘na’ )] T9=..... , lwonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., | want to

emphasize ; ....., | really want to say so ; because ...... — A can be changed to H\.
fe 2 - ERE AN -

B THPEA »5 & BT Z 65WEK U1, 1

B ‘Talking about what | got from Mr Tanaka, | got a wrist watch from him.’

*PHlzUIFADS BZ H5WEK T, =Ireceive B from A.
*ADSIE BZ H5 WX =Talking about what | get from A, | got B form him.

* To make the word a topic :
ADY — Al

Az — AlL

Al = Al &

AN = AN [

AL - AL &

ADNS = ADS (&
AXTAFXT I
AFXTIC > AXTIC &
ALD - ALD (&

MWL

(4T
at the company

A TFHERA. IWHSAIE. ETTITH, |
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A ‘Excuse me, where is Mr Yamada?’

7fJ b\ 1) nnE w505 U BA

&
B rLIJEET;‘AJ I RBRTIN. |FEIE 11 FEIXTIKEKDD & ,u\b\ia“ N
B ‘Mr Yama is attending the meeting now, but | think that it will end by11:30.’

1 113 £ 7T (& = until 11:30, talking about ‘until 11:30’
2 1183 £ TIT (& = by 11:30, talking about ‘by 11:30’
3 1153 £T H =even 11:30
4

X

S} £
*HRod = <p|ain-style-nonpast-affirmative> of ¥ D ¥ g1 =finish, end
* [plain-style] & ,b\b\iﬁ = | think that ~

P18

17

N<EL  FAEW

S THE S Lat E505 BETT M.

student ‘Teacher, what does this word mean? / what kind of meaning is this word?’

(%Y

*ES WD Eﬂﬁk = lit: what kind of meaning

BAEW - _—\L:\: P
FeE TIPEILLg & WS BIRTY, |
teacher ‘It means “easy”. (lit: it is the meaning which is ‘easy’.)

E S ¥ > 7T =in what way, how

ED < 5L = how long, how much, how far, etc
ES WS =what kind of = & A7

E> =how

A WO DN =

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)

18
Fry THSh. 20 BED LiKi—h, RDOELI, |

Chan ‘Have you f|n|shed writing the repot on this lesson?’
Bho Wo L 58%

=D S £3% k]
= TELY, HFEﬁ MO FRUE A, BFHD®R. Yo & &b bDHUT, 1
Furukawa ‘Yes. It took me one week to complete, but | finished writing last nigh at last.
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1 o & =at last, at length, lastly, eventually, finally

2 9o & =consecutively, throughout, all the way / much [adjective]

3 H-o& =more

4 = & =surely, undoubtedly, certainly, without fail, sternly, severely
19

L Wolbldk

% A
A TEHH —#EIC RS TIC T2 X ADS |
A ‘Shall we go for a drive tomorrow?’

W » UL I
B MT& W IFhé&, THABEWV, BBHIE ZILNA D 2 ATT, |
B ‘l want to go, but | am sorry, | have a part-time job tomorrow.

* 35 % = <plain-style-nonpast-affirmative> of &% D £9 g1 = there is ~, have ~, exist

* <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’ becomes
na’’ )] L T9=...... , | wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to

emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @.

1 ?%% =L\ H5 = because | want to go

* ?%% =L\ = <plain-style> of ?%% fcW\WT9 =wantto go

* [masu-form] 7z\\ T3 = want to go

2 ?%% fcWw i & =1 want to go, but ...

3 ?%% 7\ U =1 want to go and what’s more ...., because | want to go and ...., not only |

want to go but also ....
U. =[plain-style] L. =~ and what’s more, not only ~ but also ..., because ~ <It is often

used to list reasons.>
[AY
4 fT7& fz<T=Ilwanttogoand....

* To make the te-form of an i-adjective, we change the last i’ of an i-adjective into ‘kute’. And to
make the te-from of a na-adjective, we add ‘de’ to a na-adjective without ‘na’.

(110
FEH Tz, F—ALTH W7,
child ‘(Listen to me, Excuse me, Well), may | play the game?’

F3HP Ui <FEW

.
B EEE Uit HET o |
mother ‘After you do your homework. | want to confirm with you.’
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{LT W} dH&ET=x
{LT WB}HET=x
{5Hp&ET=x
{U7c} & & T = after doing, after (X) do
[ta-form] 35 & T = after doing ~, after (X) do ~ = [te-form] )\ 5

* A W N =

111
&k . m\f_;_.a_ Z Fwn -
ZDFTUDFEKE TET BEEIC A5,
This water melon is too big and it doesn’t go in the refrigerator. (I cannot put it in the
refrigerator.)

*REFTEC = KREITZES, LT =(X)istoo bigand ....
* K& 9 & 3 = <plain-style-nonpast-affirmative> of KE 9 =% 9 sg2 = (X) is too big
* [stem of i-adjective / stem of na-adjective] 9= £ 9 sg2 = (X) is too [adjective]

(112

fchL &S5 O
A TRER 8HTEDS TEVWEI, Ih. TLEYRTYT, £5% |
A ‘Happy birthday! This is a present for you. Here you are.’

feWwtE>

B T&0OhE&S c3WVWET, AT ULET, 4

B ‘Thank you very much. | will treasure it.’

* (A) % [stem of i-adjective] < U ¥9 = make (A) [adjective]

* (A) Z [stem of na-adjective] [C U E 9 = make (A) [adjective]
*(A) %Z [noun] € U ZE 9 = make (A) [noun]

fewtE>

* K¥IC UZX T = make ~ important — treasure ~

(113

DS > Z Tofr
A TR SEBLE FE>T <hT, E56 BOHES SEVNELE, |
A ‘Thank you for helping me to move yesterday.

B TWWX, &5 WeULZFEULT, 4
B “You are welcome.’
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1

T2
FEO>TAESH HOHES ST WVWFE LT} =1 helped, so thank you very much.
ToOFr
*FEWET gl =help
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.

2
Tofr
FEoIE DT {ESH BHOHES T WVWFE U} =because | helped you, so thank you very
much.
T2

* F5 oz = helped = <plain-style-past-affirmative> of ?13\,\&@“ g1 (help)
* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M T = because ~ /

3

Tofr

FEo>TLNT A{ESIH HHMES T2 WE U} = You helped me and gave me a favor, so
thank you very much. — Thank you for helping me.

* [te-form] < 11E 9 = (X) do ~ and he gives me a favor

4
Tofr

Foole 6. {(E5H HDMEDS T2 WE L) =because | helped you, so thank you very
much.

T2

* F& > Iz = helped = <plain-style-past-affirmative> of %hb\i@“ g1 (help)

D‘|4
£5 DL ZAUD

7EI *Aiﬁﬁ%é:ﬁb:lA%’:unﬁ_(D’C I@E@)\'f%b’( H5WVWK U

Because | forgot to bring my pencil and eraser, | borrowed them from the person sitting next to
me. (the person sitting next to me lent me them and | received a favor from him.)

by
* = o = forgot = <plain-style-past-affirmative> of ,uniﬁ' g2 (forget)
* DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M T = because ~ /

1
(A& B)ic ~% HLT ®0EL =
(A = superior) lent ~ to (B = inferior) and gave a favor to (B = inferior)

In this case, ‘inferior’ cannot be ‘me (us)’.

o
*8BUL%EY g1 =lend
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* (A& (B)IC ~%Z D 9 g1 = (A= superior) give ~ to (B = inferior) < (B) cannot be ‘me

(us)’.
* (A (B)IC ~7% [te-form] > D £ 3 = (A = superior) do ~ and he gave a favor to (B = inferior)

< (B) cannot be ‘me (us)’.

2
H
(A)lF B)IC ~Z= BELT HIFTELI =
(A = inferior) lent ~ to (B = superior) and gave a favor to (B = superior)
In this case, ‘inferior’ cannot be ‘me (us)’.

“BLET g1 =lend
*(A)IE (B)Ic ~%Z BT E T g2 = (A =inferior) give ~ to (B = superior) < (B) cannot be ‘me

(us)’.
* (A)lE (B)IC ~7% [te-form] 51T F 9 = (A = inferior) do ~ and he gave a favor to (B = superior)

< (B) cannot be ‘me (us)’.

3
A bzl i ~ % BLT <hEULK =
(A = inferior) lent me ~ and gave me a favor

* ébi@“ gl =lend
*(A)E U I ~Z <NE T g2 = (A = superior) give me ~
*(A)lE e U 1€ ~7% [te-form] < 11E 9 = ( A = superior) do ~ and he gave me favor

4
(A& B)lc ~% BLT B5VE L =

(B = inferior) lent ~ to (A = superior) and (A) receive a favor from (B). /

(A = superior) received a from (B = inferior). The favor is ‘lending ~’./

(A = superior) borrowed from (B = inferior)

* ébi@“ g1 =lend

*(A)lE (B)IC ~%Z H5WLWE T g1 = (A = superior) receive ~ from (B = inferior)

* (A& (B)IC ~7% [te-form] 5L & F = (B = inferior) do ~ and (A = superior) receive a favor
(B)

(115

Dl BALER

D M [ Bl £% FAT WEW BED < Sh BT,
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In my bookshelf, there are many books which | haven’t read yet with the situation that | bought
and haven't used yet. &

* %9 fc ¥ F = with the situation that | bought ~ and haven’t used it yet

* 51 T LV&RLY = be not reading now, haven’t read yet = <plain-style-nonpast-negative> of
I:IJL,/'U_( W& 9 = be reading now

* ﬁ;bé’%i@“ g1 =read

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

M=~

25 3\ 2 = while buying
h

*

M
B S = <plain-style-nonpast-affirmative> of E\L X 9 g1 = buy
* [plain-style] & L\ = while doing ~

2
E’) fc ¥F = with the situation that | bought ~ and haven t used it yet
B o fc = bought = <plain-style-past-affirmative> of Eb\iﬁ' g1 (buy)
* [ta—form] F X = with ~, while ~, as ~ <used to show that an already existing situation

remains unchanged>

3

%\L\ ZD>°TC= EL\ Z27T9, £UT, =itlooks like that (X) buy ~ and ....

* [masu-form] Z > T9 =it looks like that ~, (X) is going to do ~ at any moment

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence. * In addition to ‘[stem of i-adjective] < T,

‘[stem of i-adjective] <’ is also used to be more formal. /

4

Eo T L3 = <plain-style-nonpast-affirmative> of EDT LWE 9 = be buying now
E\Ai? g1 =buy

* [te-form] L E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>
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